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. A typical song downloaded from the l Sa,a-; 4\, "\b

Internet is 4 megabytes in size. Lindy has

satellite Internet, and her computer down- b
=1 k

loads music at a rate of 256 kilobytes ‘ sec 15‘

per second. If 1 megabyte equals
1,024 kilobytes, about how ma l m b = |D 2“" kb

can Lindy download in 2 hours?
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3 deaks = 2 chaes |74
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4. A subway car passes 3 stations every
10 minutes. At this rate, how many
stations will it pass in 1 hour?
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5. Cecilia leaves home for school on her bike
at 9:05 AM, riding at an average speed of %'os?“
10 miles per hour. Fifteen minutes later, ' M Lo (WPL\
her mother realizes that Cecilia forgot to C
take her lunch. Cecilia’s mother imme- D =\ ) 't
diately gets into her car and drives after
Cecilia at an average speed of 25 miles

per hour. At what time will Cecilia's mom q; 20 ﬁ/‘/‘ 2S mrh

gatch up to her?

A) 9::)5tAM C M

B) 9:20 AM -

C) 9:26 AM D — S V' +’ D= lG(t ;>
D) 9:30 AM
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